
Component Count: 104

Ref Qnty Value Supplied

C1, C4, 2 1uf

C2, C5, 2 10uf

C3, C9, C10, C11, C12, C13, C14, C15, C16, 9 0.1

C6, C7, 2 18pf

C8, 1 1uf 16v

D1, 1 1N4148

DS1, 1 WC1602A

F1, 1 1A

J1, 1 For DB15 cable

J2,  not used 1 I2C

J3, 1 RJ45

J13 1 headset conn

Q2, Q3, Q4, Q5, Q6, Q7, 6 BC547

R1, R2, R3, R9, R10, R12, R17, R26, R30, 9 1k

R4, R7, R14, R15, R19, R20, R21, R22, R23, R24, R42, 11 10k

R5, R6, 2 2k2

R8, 1 1M

R13, R18, R32, R33, R34, R35, R36, R37, R38, R39, 10 4k7

R25, R27, 2 47k

R28, 1 100r

R29, 1 39k

R31, 1 300k



R40, R41, 2 100k

RN1, 1 10k x8

RV1, 1 10k

U1, 1 L7805

U2, 1 24LC64

U3, 1 HC908JL

U4, 1 KT3170

U5, 1 MC78L08_TO92

Y1, 1 29.4912MHz

Y2, 1 3.57945MHz

16 way ribbon cable with connector 1
DB15 IDC connector 1

Rotary encopder kit 1
Push button Kit 1

Clear LCD window 1

Set of PCB  including front panel 1

Front to PCB screws 8 M3 x 6
Front panel spacer HEX MS 15mm 4 M3 x15mm

LCD mount screw 3 M3 x 10
LDC mount Nut 3 M3 Nylock
LCD spacer 3 M3 x 3


